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3. Attempt five questions in all, selecting three questions'froir Section A and two from
Section B.

4. Use of simple calculator is permitted.

5. Answers may be written either in English ¥ if¥1lindi; but the same mediam should be

used throughout the paperg\\g
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Part—-A

1) a) Unit labour requirement and wages for Spain and United Kingdom are described in the
table below:

'(_‘ '''''' N .‘ !_\ifage Unit labour Requirement (in hr.) !
| Country _ T ﬂ T [ ~ |
' Rate Wine Cutlery | Cloth | Hardware | Wheat Cheese |
| Spain | €2/hr 4 12 6 15 5 7 -
CUnited |, |
{ | / 3 [
U_’(_iggdom £3.2/hr 3 | o4 5 6 2.8 |.J :_

) If the exchange rate is £0.8/€1, find out the pattern of specialisation for both the countries.
4)

1) Show the determination of the relative wages with a diagram using relative quantity of

labour and the relative wage rate as the variables for respective axis, (4)

iii) If the wage rate of United Kingdom increases to £4.2/hr, given the samé exchange rate as
before, how does the pattern of specialisation change for both the countries? (4)

b) Write a short note on “Gravity Model’. 3)
1.a}$ﬁaaﬁtqmgé§%ewé?%v3$ré&maﬁramwammqﬁﬁa
7% Tifder # aftig &

. }Haqfraw SHIS A B ORI (T

‘ Wine \Qutlery o Closh Hardware | Wheat Cheese

e &b |4 P 6 EE 5 7

[ T ' Q N 1
“: F£32Mhr (3 QO @ 5 6 2.8 3 :

! | i S | 1

i gfe RAfesz a3 £0.8.€1 8. aralat gof & v Rdwswar & w&@sy 7 519 #t

i) T HRW F o dr ATIRT AT TYT WUET ASGY &X #r W F ®T A warer
Y e FHolqy & fAUROT F g

) Tees e Y AEl @ £42 91 R 7 ae o Lt & 55 T
REFT @ W, E gef & v Qe & w0 & i vor oieds g b

b) A&y Azer . ve dfaiea fequoh fad|

2. 2) Consider country A that produces computers (C) and food (F) using capital (K) and
lihour (L), Both industries are perfectly competitive. Unit factor requirements are fixed and
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non substitutable. The technique of the production is given by: axc =3 and agr =
1, aic=2and a;p = 4.

¢ 1s the number of units of factor i required to produce a unit of good j.
i) Which industry is capital intensive? Suppose that it has an aggregate endowment of 100
units of capital and 100 workers. How many computers and units of food will the economy

produce? Explain with diagram.

i1) Given the same technique of production for both the goods, country B now opens up for
free trade with country A when country B possesses the aggregate endowment of 100 units of
capital and 150 workers. Explain the direction of trade between country A and country B.

(6+4)

b) Export led growth in poorer nations would actually be self-defeating ------ -Comment. (5)

2.a) I G AA A Yol () T A7 (L) FT GG G FREYQ) T HSH (F)
FT U FAT Tl AW 3T quie: wfaanh &1 s S sravgmar R
T IR GFEATIAT § | See T AwE 59 TER A I B

b‘v': Qe = 3 and App = 1 Qo = 2 and A g = 4,

@i W;@%@W%W@Uﬂﬁgﬂé&ﬁ#%%

%
1)%3?3@“@%%’%%%%%%@#100@%%

ﬂﬁwaﬁrwom@ﬁmﬂm{aammmﬁmmw
UG e 2 HRG F U1 GHSAU|

i) ST aFGIT F T SeEE A FART Tl B AT gU, A9 B 2w A & @y
HFT SR FA F AT FAr § F9E 4 B F 9w G A 100 z@E @
AfFaRT 1 150 garg &1 a2r A 3R 2 B & @t sama fr e i sarear &3

by arfie 2ot & AR geffr scA-wIs arelr g, oo Y

3) a) i) Suppose a country wants to protect its ‘Infant Industries’ through trade protection

measurements. Lvaluate import tariff and import quota for the same level of imports as
protection measurement. (8)

i) An interesting suggestion came through in the process of evaluation: “Instead of protee

> industries from foreign competition. a country should try encouraging their production of
inport competing goods through pmdum(m subsidy™. Do you agree with the suggestion?

Ly (3)
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b) Write a short note on ‘Intertemporal Trade’, 4)

.@)a}i)mmﬁ?waﬂm’fﬂ?jﬁ@ﬂﬁ@m@?ﬁ%*%ﬁ@
YT HIA WA § G AW F T F AT F GAS TR F S T
3R 3T HICT H TedicheT i

i) SR B G v daen gena ;R et ¥ st &
T F T, T A F U FRES F AR H wforad et &
I HI WICHIGT R F1 et AT AR | 1 HT 39 G F T 7

b) BTICFINS TR Y TiEyeq Ruofr B

4) a) Bangladesh produces shoes at a lower cost as compared to the world/fharket leader,
Cambodia in shoe production. Despite being the low-cost producer, Bangladesi'is unable to
compete in the international shoe market when free trade takes place. In fict, Bangladesh
does not even gain from foreign trade. Explain the above anomaly 6f'the trade pattern with

the help of forward falling supply curve. (7)

b) Suppose, monopolistically competitive firms, facing same\demand curve for their product,
having different fixed levels of marginal sts, have, the same but non-recoverable fixed
costs. Establish the relationship betwe e margifial)cost and operating profit. Show how
does increased market size generau;ggoth winnees, and looser among firms in the industry.

” Q\Q (3+5=8)

»
4)a,mrmam&m,mm®§mﬁamaﬁﬂawsﬁﬂ

3CUIGHA FRAT &1 Hebd AL, E A & F37 a0 9 seaes @ F s,
FEATEYT HARTSET IR SR # gfderst ava & 3ged &1 acags & givander

el caarR & o AE §1 I A AR AR 5O I @ f wgREr ¥ o
FaRT & IR fagafa @@

b) A A, TR gt o, S s & R v @ e o f
Rl R @FT ard & TR 8, GAE WRed 39 arell R aerd &1 d@aig
T Ty aREe A & @i gey Tihd ) e fF eer F e
Terady 3 & faslar aur WS gl YhR H FH Iclee ST B

1) A country produces two crops Barley and Maize which are produced by labourers and
ctiye production of Barley and Maize. Given

ne other factor which is specific to the re:
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the price of batley (Pp) and maize(F,), the relationship of labour allocation is shown 2

MPLyPy = MPLy, Py where MPL,, and MPL,,are marginal products of labour for the two
crops. [ Maize’s price increases by 5% with no change in Barley’s prices, what will happer
(0 the labour demand for Maize production, and the market wage rate? What will be
welfare status of labourers? Explain with logic. (7,

b) “Desirability of Custom Union depends on whether it mainly leads to trade creation or
trade diversions” -==------- Comment.

5. ) U U A BHAT I gUT HAFH H 3cEa HT ¢ S T s qu Fo
¥ FRE S S AR mee & @Eftd 3cues F fov fRftee & oz
seaTied @ €1 St ((Pb) T A (Pm) B & §E FACT W, HF Hiaed w1 HaY
MPLyPy = MPL,,P,, & &I & @M 3T §1 MPL, @ar MPL,, &I BHdI & #H &
AT 3ere &1 A Haw i FAg 7 5% H gy awr it H Fmg yuRaaa
B, A HaRT 37UTe & o A AT 1 @ gl auT SR 7 FAeigd &% F F
g siffet i wearr Ryl Far enfn aF & gy FFssd

b) FECH HY #HI ST 3H a0 W R WA FHIE F87 FT F IR
AT o sgow JE, BBad 3N o TG g el L feoguft Y |

S\\& rt- B8
6. a) Assume that an economy is ntly atfull’- employment. The government of the
' fonary “fiscal policy of a permanent nature. Explain the
1agram, €learly bringing out the rationale behind the impact
licy én eulput and exchange rate in the perfectly flexible

of this expansionary fiscal

exchange rate and perfectly mobile capital environment.
(9

b) The Japanese yen (¥) give$ 20% interest rate against 10% interest rate of dollar (%)
deposits and the expected rate of depreciation of the yen s 10%. What will happen 10 the S
the foreign exchange market? By what rate yen deposit need to depreciate to bring in the

equilibrium in the foreign exchange market? (6)
b0 A F BF UF YT A H OISR F TR W Pl WEFR
yemEry A vF TR YR A @AEER AT g ARl DD-AA IR
T ¥ 7E TOSC A Ay qUiear wEed Riawg @ aw quiaa afadde o
--Hﬁawr#mw%mﬁﬁm#ﬁwgﬁwwwmmm
¥ awt ®r Tose W |

,_-
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b) START AA(¥) 20% A & AT & % SR (S) ST 10% sarer ax, o e
1 syaFeae B I & 10% 51 RSN Hqor aem & sier aw wr @em

a1 SR A o & o & fov 397 5 w1 R @@ @ smmse e TR o
7. a) Show that with imperfect asset substitutability, the central bank can use sterili za'

intervention to hold the exchange rate fixed as it carries out the expansionary monetary policv
10 achieve domestic objectives such as full employment. \'S,

b) How was inflation got imported from abroad (US) to other countries under the Rretton
Wood fixed exchange rate system which was characterized by lopsided macroeconomic

-

power vested on United States? (7)

7.2) g2 foF 3rqot aftgufa wfavures & T, & 8% ifeag 3« W @
& fov fAsher gFdelT &1 YA F FHAT ¥ oFFE T8 GOT ISR R
FEERTT & I°d W & v Fralia #ifgs Afg &1 a7 wapdy

b) STt 98 R BT @ o, S fevar dgad_ (o wife & Bk
Waﬂfﬁ%aﬁaaﬁraﬁ,ﬁﬁaﬁahﬁﬁ@mﬁr%&arﬂméaﬂmw
7S f

8. a) The severity and breadth of the @09 ¢risis ‘have led to initiatives to reform both

national ﬁnancigl systems and the i ationtdl system. Describe some of these measures,
which have sought 1o fill gaps i sting feguldtory frameworks while also paying more

attention to the macroeconomic (@ses and eohsequences of banking problems. (7}
\)

b) What is financial trilemma?’ 3

¢) How does market determinedexchange rate acts as an automatic stabilizer? (3

R a) 2007-09 & wewe &/ aRArT FUT REaR F AT RAefrw gonft Fer
mﬁwm@maﬁaﬁﬁw%mwﬁ%;ﬁm:i@@mm

e i waemt & wovw aifE srot i et @ sk aes
trmaﬁﬁmnh@ﬁﬁammm#mﬁmﬁamﬁﬁl
b) Trdrr gEdFT Far & |

gl 2 T %ﬁ_fﬁp%ﬁ“ &dd: FPT"”“T"L %?”T\.fc‘%\ ch;];g;-
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3
4. The marks of ea@%gsuon arg written alongside the questions.
5.  The use of non- programrnable Lalculators is permitted

6

- «Answers may ba written either’ rri Ehglish or in Hindi, but the sarm: s
- should be used throughout the puper ' ;

QL. Explain the Harris-Todaro model of rural-urban migration, and diseuss any one

policy that brings about full employment in the economy as well as eliminates the urban
informal sector. (135)

Q1. gLl yarga & gRE-AEEr A H Tem, 3R U ogr A 93
T Y S Hfeyaer F qul QSR AT ¥ AR @y & @y gl swituanie
T B FACT FIAT B : (15)
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Ly, despite government efforts, birth rates have tended 1o remain high ip
= o SS W 1\1 =
Q: leuu v

oped and developing economies. i

underdevel . .
%Wagmamg,mﬁﬁmﬁwm

Q2w W
ey & fra @ § F7H & 3% i (15

. how interlinked credit contracts are a marriage of convenience in ryrg|
ain ho

3. Expl

i k;p (15)

MAOrkets. - -

Q3 WWWMJ&G_;@WW'WW#W@W
X ' Lk (15)

ey B

(4. Sharecropping is an economically inferior contractual system to fixed ¥ent system.

Yet it emerges as a way to share not just output of productive aetivity but the risk

associated with it as well. Elaborate the above statements. (15)
Q4. F T ¥ sesad PRTd R GomRN\R g # U I
TifreTeAs yomel &1 TR off 9g 3cues AIfafafen wrScurgs & TE 9foF 3aF
mg@aﬁwaﬁﬁwaﬁ@mﬁmm%l IRFT RO F:i

: s\\Q (15)
faeee | | Q&

N

Q5. a) In each of the givex@as&s, the, méney may be lent in the formal market, at 10%

rate of interest with no fear of lesinig any money. Calculate the minimum rate of interest

at which g lender will lend.RS. 71,000 on the informal market:

) With probability 1/2 the loan will be repaid with interest, and with probability 1/2°

that only the principal will be repaid.

il) With probability 1/3, the loan will be repaid with interest, with probability 1/3

only the principal will be repaid, and with probability 1/3 the loan will not be

repaid at all, (3.3)

b) Casual labour marke s o
) bour markets create externalities that everybody ends up paying for:

employzes thiough bad nutritional status and emp

labour. Explain,
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Q5.3 @ BT 90 g% Al H, I 3mtvaiie s S 1000 39 oy
% w9 & o oen 5, e oo e 8 F qm o & s o
m%ma%,aa&mrﬁﬁmﬁmﬁFWa?ﬁm
T |

i) FHIEAT 1/2 F AE HOT I F WY GHEAT FJrea, mgmmam
for Sae HersT THIIT ST

(i) I FHOT AT & W THC T, Wmﬂammﬁwmﬁm
é‘raama?rvmmm%r 1/3, Y3 wa. 113 §] (3,3)
) WHEEAF 47 SGRT & @l @t e S gar i ﬁf&*ﬂﬁﬁﬁw
HLEAT 95T ¢ mwmﬁ‘&%%mwﬁmlﬁﬁﬁmmw
mzﬁmﬁf#mm@%wﬁ[mwl . T (9)

Q6. Discuss the role of inclusive investment and productive base in understanding the

sustamability of economic development. What does the empii*i’éal evidence say in this

regard? '_ : , IR DR B X
Q6. nfis o 1 fFerar = @& ﬁmﬁ‘?ﬁ'ﬁ?ﬁf&ﬁ(wm
ST giFe W gEr Fi '&*agwmﬁwa?gm%?._- 15

mﬁgg@ (15)

Q7. Discuss the roots of th@ S. fimancial crisis in mid-2007. Also dxscuss the broad
policy recommendatmn to%x the Gerfous ﬂam in the economy in @rder to avoid potential
future grises. o o (19)
Q7. 20073:::@3#3{3#%%?%%3%3@%@%%1 '\:ra;r%?rzﬁam
#W@W%%@Wﬁﬂﬁt@ﬁﬁﬂ?ﬁgﬁ%ﬁmﬁm

Afer AR ox s ==t &1 2 (15)
8. Discuss the effects of globalization 6n thé poor in developing economies. (@83
Q8 Tawraeier srfeaeurat & arliel o spEsEEOr & garel ox Tt S (15)
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A\
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{Write your Roll number on the top immediately on receipt of this question paper.) </, N&¥
(gamﬁ-wa:fﬁaaﬁmﬁﬁmﬁm%ﬁawwmwwl)

Note :- Answers may be written either in English or in Hindi ;

But the same medium should be used throughout the papér.
ﬁ-’mﬁf%ma-wmmﬁﬁm%ﬁ%wwﬁaﬁﬁ:%mmﬂmmw
& & = |
Attempt FIVE questions'in all,

Selecting at least one question from each section.

Use m‘%%gntific calculator is allowed.

Q
g&%ﬁ%qaa’r%mmﬁ]
N
qﬁ%wﬁﬁm—ﬁ-wwmam%
S HAFIET F T AT ¥ |

SECTION A

1. (a) Consider a portfolio consisting of n assets all having a rate of return with mean W, variance
o?and covariance 6o?2. Show that portfolio variance cannot be reduced below 0a? no matter
how large n is made. Elucidate with a diagram. (7)

{b) You can only invest in two securities: ABC and XYZ. The correlation between the returns of

ABCand XYZ is 0.2. Expected returns and standard deviations are as follows:

Sec;r:ty Exp Return Std. Dev 1
| ABC [20% e |
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P

1 AC04
] 2370

What is the expected return and standard deviation of a portfolio that invests 60% in ABC and
40% in XYZ? (3)

(c) Show that for a present value P of a perpetuity that pays an amount A every period
beginning one period from the present is given by A/r where r is the one period interest rate,

(5)

(37) T GIEHITRT W AR wt forws @ 0 oRE9d ¥ AR Sad g
qﬁﬁq%mvp,wczmmwwﬁswaqﬁrwwatm?lm
R gICTRIferaT SERYT  00? ¥ A Fot S BT o gwar ¥ A Reger o CE|
ST ST | U AF & {Y FRWoT & |

(&) 39 Saer gy gl F P = @ § : ABC G201 XYZ| ABC @97 XYZ &
W#WWUO.2§|WWWWMW§:

, : . \‘(\QQ :

| Security ExpeReturn Std. Dev
ABC 0% 20% o
XYZ = \N15% 25%

N\

U GICHITIT & A Sfehel aar sarg fmee Far & 5t ABC F 60% @
XYZ # 40% Toaer sy 2

@) RErr & v warRica(perpetuity)® adamT g & R &t adewe § o e

W I ek e F U A AT A aver § R A qaR R o & S
I'TH Al ST T ¥ |

2.(a) Find the price of a 10% Government coupon bond that pays annual coupons, matures in
exactly 2 years, and has a face value of $1,000. The yield to maturity is 4.09% p.a. compounded
annually. The bond has just paid its annual coupon, hence you need to price it assuming that
the first coupon that you will receive is due in exactly one year. (5)

Download all NOTES and PAPBRS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

(7)

(c) Explain the market segmentation hypothesis for term structure of int t rat
erest rate.

(3)

(37) 10%«4?:531 cgngqurs*mHmﬁsﬁmﬁmwwmﬁ,w
mﬁzﬁﬁqﬁmmﬁawﬁﬂmﬁﬂwwmglqﬁwﬁm
4.09Wowmmﬁlm#maﬁmwwmmm%
mzmﬁm@mﬁmﬁmﬁﬁwwa?:ﬂq;mm
aEdd A UF a¥ F g7 ¥ |

(a)wﬁﬁa:%vmﬁ,m,@aamqﬁvm%m$aﬁamﬁ%ﬁﬁﬁ
|

(‘H)mmﬁmfﬁm%%vwﬁﬁmqﬁmwmﬁﬁmaﬁi

3. (a). The spot rate curve usuaiiyss\é\@s upward as maturity increases. Provide reasons for this

kind of shape. (5)

, . S

(b). What iséhe differenc;@kfveen CML and SML? Derive the CAPM equation. (3+7)
Q

(31) TUiC &T 9F & T THETS: YATHS §IdT & oI IRUSad Jod §] 3§ IR
a;amésﬁtrma?r@|

(&) CML va SML & & a7 37a7 &7 CAPM HHISRIOT &7 faiRor ¥ |

SECTION B

4.(a). What is cross hedging? Explain the circumstances when hedging can lead to a worse
Outcome? (3+3)

(b) What is intrinsic value and time value of an option? (4)

(c). A four month European call option on a dividend paying stock is currently selling for 5. The

Stock price Is 64, the strike price is 60 and dividend of 0.80 is expected in 1 month, The risk free
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interest rate is 12% per annum for all maturities. What opportunities are there for an

arbitrageur? (5)

(37) HIF efSia(hedging) #ar §7 uRTFEUfAIAY & auia &Y sTa &f30T @Wwe gRums @
crl(‘]__cﬂ AT 8 ]

(¥) T Fheq i @ qoa TuT TSRS (ntrinsic) qeT &4 § 2

(H)WWQTWWWWWW@W*TM fashey aaa= ® 5 &
fov a7 w1 § | TR P 64, Tored $1ET 60, gUT 1 AER A 0.80 F e
FAAS 8 | Tt aRosraar & v Sifew R samr av 12%8)
3RfagsR(arbitrageur) & AT a7 3wy 7

5.(a) On January 30, you are managing a bond portfolio Worth"$6 million. The duration of the
portfolio in 6 months will be 8.2 years. The Septembet Treasury bond futures price is currently
108-15, and the cheapest-to-deliver bond will have & duration of 7.6 years in September. How
should you hedge against changes iné@terest rates.over the next 6 months? (5)

N
(b) What is meant by Cheapesl&@dehver berid? (3)
(c) Suppose that the Treasx@\bond futures price is 101-12. Which of the following four bonds is
cheapest to del|ver7’(7)

Bond | Price J] Conversion factor
|
1 125-05 1.2131 ]
2 142-15 1.3792 B
'3 11531 | 11149 |
4 144-02 1.4026 j

(31) 30 STeal S HT TF dles Gt ST Haa $6 BT & &7 yay &%
® | 6 Higel A WCHITAGT i 3rafer 8.2 af g | Ridex ¢ord afes sy Foa
I A 108-15 § U7 FFaT ¥ Y a5 Redew & 7.6 a¥ # 3rafdr goft | e
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saﬁﬁéaqawmaﬁﬁwﬁaéaa:%mmmm

(hedge) &TAT
TIRT |
() |E q ﬁ"{é (Cheapest to deliver) ez @ T T T %o

(g)m%ma‘fﬁﬂﬁwﬁmm-mﬁﬁmﬁf@ﬁmmﬁgm
g o '{ﬁ? (Cheapest to deliver) & |

" Bond Price Conversion factor
1 125-05 1.2131
> 142-15 1.3792
3 115-31 | 1.1149
4 144-02 1.4026

6. Suppose that the standard deviation of monthly changes,ir the price of commadity A is 0.3.
The standard deviation of monthly changes in the price'af a futures contract on commodity B

(which is similar to commodity A} is O,2®The correlation between the futures price and the
commodity price is 0.9. S\\Q

9
(a) What hedge ratio should b& ed whienihedging a one month exposure on the price of
commodity A? (3) §§Q

{b) Suppose you are a producer of edémmodity A and expect to produce 1 million units of this
commodity in one month:Each futures contract represents 42,000 units of commodity B. What
strategy will you opt in ofder to hedge the risk? How does your answer change if the correlation
between future price and the commodity price becomes perfect positive? (8)

(c)Explain the relevance of ‘tailing the hedge’ adjustment while hedging an exposure. (4)

T B avg A & e H A aRade F GA RFeest 0.3 8] avg B W siasy
Her ¥ frEe & 9w TR W OTHT @Ues (S aw g A ¥ arEre §) 0.2 ¥

WWHWW@W%WWOB%I

(3) T ¥ei(hedge) FeTATe ITART foRAT ST MY S 6] A T FAT W TH

e #r sfe(hedging) @1 STC |
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(a}ma?rma@Aa?mﬁmwﬂﬁﬂrﬁwmmm
5 o
SHF % SEH T I T ¥ | TIH A HET 7857 8 4y 49000
7 SRR e €] e 9 A A I = ey

mﬁqﬂaﬁﬁmaﬁaﬁm%ﬂﬁmaﬁﬁméﬁ@mm
ATCHS glar ¥ |

T
3T9ery
ENGE
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SECTION C

7. (a) Explain the different ways in which a firm can repurchase a stock, (6)

(b). Consider a company with the following market value balance sheets

Asset Value 5000 Debt 1500
Equity 3500 |

.&
The return on debt and equity is io@d 18%respectively.
N9

(i). What is the overall cost of s@%l?
$Q

-
(ii). If the firm issues an ad@uonal 500 0f debt and uses the cash to repurchase 500 of its

equity, would the overall cost of capital cha nge? If the expected return on debt rises to 12%,
what would be the returnen equity?

(iii). If the company decides to repay all its debt and replace it with equity, how will this alter
the return on equity?

(3+4+2)
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(i)t{sﬁaﬁrg?afﬁrammwﬁ?

i_d(a) Fmar;}ciai ieverf-lge does not affect the risk or the expected return on the firm’s assets, but
it does push up the risk of the common stock. Elaborate numerically using the concept of betas.

(8)

(b)‘Under trédltionaiist view, the weighted average cost of.capital does obtain a minimum for
?;) intermediate level of debt-equity ratio. Discuss the arguments in favour of this statement.

(37) e m(leverage)ﬁ%mﬁﬁwmﬁﬁﬁwmmaﬁ
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Name of the Paper : Principles of Fconomics
Name of the Course : B.A. (H) and B Sc. e
Semester - VI

Duration « 3 Hioitia

Maximum Marks - 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper

2. Answers may be written either in English or in Hindi; but the same medjum should be
used throughout the paper. i

3. Question no. 1 is compulsory. Attempt any two questions from Section A and any two
Questions from Section B. ’

oE @ o ey
,_ggm_wzbﬁaﬁﬁwﬁnaqﬁaﬁawwmm%ﬁ@m
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3. TS BAG TP JNIR B | TS o § BIE T U 9 @S § § O BE & 5= oY)

1.Answer any Three : 5X3
‘1) Distinguish between Giffen ands@%or goods.
rii)y Distinguish between nominga@%hd real*Gress Domestic Product.

(i) What is the price eia@ of Démand.
-1v) What are features of Perfect Competition?

1. =y A Tt @7 SR e ¥ foRay: ¢
() Pifv qor fre @I 1 awgelt & 9% X

) s T IwlE 9o e IAK (G0P) ]

i) 7 & P da TR
(v) qof uftrarfirar &7 RAgmant o |

Section A
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2. (a) Explain the problems of scarcity and choice with the help of Production POssibilijy

Curve.
(b) Explain Law of variable proportion.

(8,7)
2. (&) GonfaT o U Y WIRIT BT SET WATTHT T B FTEA F qofy gy,
(5) uRae=reier arurt @ fFram @ e o |

3(a) Explain derivation of demand curve for a normal good with the help of indifference

curve,
(b) Explain determinants of demand.

(8.7)
3. (&) T W g B Ry S @ e B SR ¥ W 95 w1 R
av—{fl |
(@) w7 % fRufke ge 3 R @

4. What is monopoly? How is the equilibrium of firm determinéd wnder monopoly?

(15)
4. W@m&m%?w@awzﬁaﬁawwﬁwmﬁmwﬁaﬁa@m%‘?
| s\\QQSection B
5. (a) Explam income mcth.e@gfor estimation of National Income.

(b) If (i) Marginal P@@nsmf to'Consume= 0.8

(i) Marginal Propersity to savé = 0.5
_ What is tllre value .pfmultiplier? | ,
S g e B L e BHRE R 7.
B (m)imfmﬁmfa%m%%mﬁﬁr-ﬁaﬁﬁwm MR
(@) afs

(i) I ST gty = 0.8
(i) AT o oy -

TTE BT AT ST B

0. (a) How does fiscal policy help in bringing an economy out of recession? Explain.

(b) What are the function of mone
) Y- (10.5)
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7 Write short notes on any two

{a) Macroeconomics issues
(b) Terms of Trade
(¢) Circular Flow of income in a two SCuor model

%%"IE’TWWMW;__
Q
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Sl. No. of Q. Paper : 8714

Unique Paper Code : 12271601

Name of the Course : B.A. (Hons.)
| | Economics - CBCS -
Core |
Name of the Paper : Indian Economy - II
Semester i | : VI | |
-Trime : 3 Hours _ Maximum Marks : 75

Instructions for Candidates :
ghefefal & e e @&
(a) Write your Roll @ on’thetop immediately
on receipt of @f’s quéstion paper.
| AT A ) gRa o ax ereer
A Fex ”*rE )

(b) Answer may be written either in English
or in Hindi; but the same medium should
be used throughout the paper.

T 999 & IaX Sidsh a1 EH Ff o
a7 § i, aﬁﬁrwwwawﬁ

g =R |-

(c) Answer any five questions.

=gl dfer g9l & IaX |
P.T.O.

Download all NOTES and PAPERS at StudentSuv


http://studentsuvidha.com/
http://studentsuvidha.com/

Provide an overview of the Macro €conomic
deve.lopments In the Indian €conomy from
medium term Perspective an, .

d review th
areas that need policy attention. € problem

FRAT STefereee & Her sl
e = U Gt g
TR BT PO O SR eor S o e 1, S

ST S 2
Bhagwati and Panag ‘b'are of the opini
if the labour refor et

are implemented they
would accelerate the growth-in formal sector

employment. Do you agree ? Give reasons in
support of your answer, Briefly state what other
benefits, if any; do you see from the
implementation ofdabour reforms ?

TITEAT ST I9ARAT i |i==T © 75 af s g

H e, ST

BY e Gt & Shaenfes S 5 Qe 3 ot mer

Y 8T & ? 3199 SmX & gaq 7 q AR
Y F Sard 3 ar HH gl @ mEieaT o A
T &9, e I &I, TR s & ?

How far do you think indirect reforms such as
exchange rate reforms and lowering of industrial
tariffs impacted Agriculture growth ? List som_(}
of the challenges that need to be met 1
agriculture is to be taken forward ? T
SATqeRY TR @ © b fhe gw_aw fafa <X
ad sfEnfie_2Rw ﬁwaﬂﬁéﬁe{ma?ﬁ%m;
fyepr =1 ST far @ Al B & g
%qu fbeT-FpT AT BT AT YT = AL

2

4.

8714

«Greater integration of domestic industries with GPN
(Global Production Networks.) _rm-lst form an essential
part of the Make in India initiative.” Discuss.
usfrdye (TS SIS <dh) & ATey 5 e 3
SRR THIh 0T <l Heh § ST I8t T Uep 1o
fedT ST B1T 7 SATEAT HifsTy |

Do you agree with the view that there is much
less scope for India to make major gains in low-
skill or low-tech products because it is likely to
face an incumbency disadvantage relative to
China and other low-cost producers in Asia ?
Give reasons in support of your answer.

T ST U T O T8H7 & 6 Id i -9 ar
HH-Teh-1eh IS IAET T q AT Y o= S8 9
2, F4ifs = IR 377 Tl & 9 @ Oy SarEeh
% AT F U HHAIR Bl QAT HAT IS Thar & ?
YA IET B UBT H g ST |

‘It is not the amount of exports, but the
technological content and sophistication of
exports that matters.” Critically examine the
above statement in light of the claim that both
in manufacturing productivity and product
complexity India is far behind global leaders.

S PrfeT =1 oo 8, ot AR < |7 3w
ST <t gorr & sk fafemter &= 3 Seareesar six
ST Y Sifeerr F et O 8, 56 o) B awef &

A2 YU =l ST AT TUEOT Hiford |
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7. Discuss the impact of Foreign Direct
- Investments (FDI) and Foreign Portfolio
Investments (FPI) inflows on Indian economy,
List some of the policy options that the
government needs to pursue to boost more
inflows ?

gsmﬁzxmfmﬁwwﬁ%sﬁmﬁ%m (T® €t a7E)
- SIR R SmIRE PR (0w & o) B e
| AT B | Y S e Rewedt 3 g Far AR

-ﬁﬁaﬁwa—ﬁmaﬁﬁrmméﬁ%m
e;rmmw% ? |

- 8. Analyzc.tl'l.e ser ({@ led g'rowth”- hypothesis of
. the Indian eco y 2 Discuss the nature of
“service sector\&ntnbutlon to manufactunng

C o RAsRT Y ? R 8 3 R @ﬁnasr%
Tﬁlﬂ?ma%q@ﬁrasrﬁaﬁwa%ﬁﬁl
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Instructions for Candida\ﬁé@Q

&Q
1. Write your Roll N@%n the top immediately on receipt
of this questlo% aper.

2. Use of scientific calculator is allowed.

3. Attempt any five questions, with at least one from
cach section.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the
paper.
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SECTION A (Jgs &)
s\\Q

(a) What are forwardg,@z‘les‘? Inyoke the comparison
principle to d@\'e thesfOgmula for a one-year

forward rateQQ @A)
(b) Consider the, f§lMawing two mutually exclusive
project A and B :
Cash Flows (S)
‘ Project £ C, C, C;
Il- = - 4 ——
| A _100 | =60 | +60 0
E = ___-_._-_--____-—-—"
: +140
| B ~-100 0 B T Wi

fect
L. . each projéct
(i) Find the approximate IRR for
v choos®
(ii) Which project should the compan’

and why?
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alculate the NPV of project A, project B

tal investment project
10% and

(iii) C
and the incremen
(B-A) for discount rates of 0%,

20%.

(iv) Plot the NPV functions for the three

projects in a discount rate- NPV plane.

(v) Show that the circumstances in which you
would accept the project in (ii) are also
those in which the IRR on the incremental
investment is less than the opportunity cost

-
242+3+3+2)
LTLTIOTIT L)

of capital.

() =REs X AT ? 7F a9 BRAS € D RS S TS
& foy geen R = @m0

(@) F=faRes & wer s TRASAT A sk B w Bwe
Ex 8

TR TEE (S)

TRaSTT C, &, ¢, c
& ] 100 | +60 | <60

5| 100 0 : e

(i) mqﬁﬁw%maﬂmﬁammﬁ:
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2. (a) Differentiaté between Macaulay duration and

modified duration. (5)

(b) Consider the four bonds having annual payments

as shown in the table below :

End of year | Bond Bond Bond BcIJ)nd

payment A B ()

Year 1 100 50 0 0+ 1000
50 0 0

Year 2 100 = :

Year 3 100 + 1000 | 50+1000 ] 0+1000

Download all NOTES and PAPERS at StudentSuvidha.com
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75 yield.

a 15%
The bonds are traded to produce 15%

(i) Determine the price of each bond.

(ii) Determine the duration of each bond (not

the modified duration).

(iii) Which bond is most sensitive to a change

in yield?

(iv) Suppose you owe $2000 at the end of 2
years. Concern about interest rate risk
suggests that a portfolio consisting of the
bonds and the obligation should be
immunized. If V,, Vi, V. and V are the
total values of bonds purchased of types
A, B, C and D, respectively, specify the
necessary constraints to implement the

immunization? (10)

(=) %aﬁmﬁfwﬁ'ww
‘q’lﬁ?{ﬁa‘@wwa& IRIE

B0,
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100 e I e
100 50 . iy
T 3 100 + 0
10
00 50+ 1000 0+ 1000 {
15% JIIT %ﬁ- = ﬁ"N’ S ——
\\%'% fehar s 2
(1) AT q-3 H fritie =1
Q‘Z)-
i . @§Q\
(ii) 95'3$a1% sty REiRe o | (SRR sy
)

(i) S ¥ g B e T @ E el e
51

(iv) Wﬁﬁvﬁ?mzaﬁ%ﬁﬁsmo
lmatry?rﬁﬂa%aﬁif

Cxdl
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3

(b) Individual A

(a) Distin

7

guish between capital market 1in€ and
i (5)

security market line-

g venture. The price of

$875. It is expected

£ $1000 after one

nty about how

the standard

Consider an oil drillin
nture 18

(i)
a share of this ve
to yield the equivalent O
year but due to high uncertal
much oil is at the drilling site,
n is 40%. Currently the

deviation of the retur
te of

is 10%. The expected ra

risk free rate
9% and the

n the market portfolio is 17

return 0
s rate 1s 12%.

standard deviation of thi
cted rate of return

Calculate the expe
Also

predicted by capital market line.
jent to invest in

(3)

comment whether it is effic

this venture.

is planning to invest in a mutual fund.
This fund invests 10% of its funds at the risk free
rate of 7% and the remaining 90% in a diversified
market portfolio which has an expected rate of
return equal to 15%. The beta of the fund is 0.9.
One share of the mutual fund represents $100 of
asset in the fund. What is the value of the share

based on CAPM? 5)

P.T.O.
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(®) (i) T TR = ek
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TS WR A A $875 2 1 9w, v o R are
§1000 F B W T F B e 3
AfrT B e = e o= 2, e
Io R & SRt w1 e

aAr . L d ;
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(@) W#A@mmﬁﬁ%mmﬁa&Maﬂw
2| 78 = I 10% W= ol 7% @ St g
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T ?
FeR T A
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a $20 million portfolio with beta

s con
futures price
t is

g&P 500 to hedge its risk. The index

ntly standing at 1080, and each contrac

e What is the

for delivery of $250 times the index.

hedge that minimizes risk? What should the
company do if it wants to reduce the beta of the
(5)

portfolio to 0.67

(b) Explain what is meant by basis risk when the

futures contracts are used for hedging. (5)

(c) Suppose that you enter into a short futures
contract to sell July silver for $17.20 per ounce.
The size of the contract is 5000 ounces. The initial
margin is $4000, and the maintenance margin is
$3000. What change in the futures price will lead

to a margin call? What happen if you do not meet

the margin call? 5

(@) ™ = ¥ 12 D fa D ww 520 PAREE
EwiferRr 2 1 TE I SRGw O T B ﬁrq
S&P500 W arger - e

TR |

P.T.O.
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(1) W A azmggl&@%am $17.20 %fy sivw <
ﬁﬁ%ﬁvwsg%mwﬁmm%
aaamawanw%ooo 38 | URfRTER MR $4000
2, 3R TEw@E AR, $3000 € 1 e €= ¥ @
Rad AISIT el ! sigrar < 7 Al 3T AT Fie
Ea cule e TG S U

5. (a) The spot price of silver is $15 per ounce. The
storage costs are $0.24 per ounce per year payable

advance. Assuming that the interest

quarterly in
ties,

per annum for all the maturl

rate is 10%
r delivery

calculate the futures price of silver fo

in 9 months. Explain the arbitrage opportunities
o the theoretical

when the price is not equal t 5

price.

(b) Supp9os€ th

(c) Expla

Download all NOTES and PAPERS at StudentSuvidha.com
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at the risk-free interest rate is 10% per

m'with the continuous compounding and the
index is 4% per annum.

0, and the futures price

annu
dividend yield on a stock

The index is standing at 40
erable in 4 months is 405. What

(4)

for a contract deliv

arbitrage opportunities does this create?

in carefully the meaning of the terms

convenience yield and cost of carry. What is the

spot price,

(5)

relationship between futures price,

convenience yield and cost of carry?

() =ré o wiie T $15 9 =g & 1 ewor A $0.24

oFr st Wi o Yl e ¥ 3@ 21 g A gW
fr ) GRS & g = w® 10% R T 2,
oAl ¥ Refad & forg @ & awRr qF A/ A
| AT & I F R Y o Ao AT
T H SR A B | )

(@) = Y & e Twafe & wr S -3aa =

W 10% 9 af B 3R Wi F3F W A A ITA
4% v 9§ 2 | gEEIE 400 W @ B, AR 4’ HEA
¥ faRa ey & fow am@er @ 405 21 T R
HAEIAT & A AaT HA ¢ 7

P.T.0.
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, 57
(1) wfawr des iR H A w5 A 87
e e, wite e | () (i) (Fgm o G ¥ Fw w2
g T79, glaen 408 3 4% wnm 3 iy
T G B 7 \ 5
(ii) Bt Sy W T fAEe §15,817.57F $20 #
6. - ; , Wﬂp%wm%,ﬁhsnﬁ%“
(a) (i) What is the difference between a strip and 4 N 8 o
strap? qife A A F | I A w84, 52
(i) Call K 7 30.5 z T o FEHAE FE T &
ii) Call options on a stock : . '
selesepsioos o 615 $1c?’qire Zv;ﬂable with forg Rwea =1 39T Y fFar o1 g 2 7
o ’ and.$20, and the <
expiration dates in 3 é"s\lths. Their prices are IEFAE YAR & forg =i = T = o
fr=1 211 2, 98 <A §Y F Aol o
' et =1

$4, $2, and $0.5 .@Sgpectively. Explain how
the option ca & used~to ‘create a butterfly

- spread. Con@uct atable-showing how profit
varies with stock, price for the butterfly

Exdl

(@) - IR A wiE # T $19 § #R $20

spread.
P 2 % e T @ T e W s T B T =
(b) The price of a non-dividend-paying stock is §19 Teer # A $1 2 | SIRGH 9T W 4% 9 99 2
European call option $20 B TTEE T D AT 3 A D =
< .;\EI ”rl { i & HATEH

and the price of a 3-month
ith the strike price of $20 is $1. = < w2

on the stock w
per annum. What is the

The risk free rate is 4%
i e i ith the
price of a 3.month European put option wit . _
@) () T e i R weie w Rwer $30 3k $35 wE

strike price of $20? &
WEH 69 & 99 w4 $4 3R $7 ITo= B | F;W

ock are available TR T B R Rl =1 s #3 B o v

35 cost 34 and 2,
ed to

©

ptions on a st

£ $30 and
the options be us

(c) Suppose that put 0
with the strike price 0
§7 respectively. How can

create a bear spread?
P.T.G
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SECTION C (w®vs w)

7. (a) Explain with the help of an illustration how

4

dividends are paid.

(b) Explain, with an example, the Miller and
Modigliani’s proposition of irrelevance of dividend

policy. Clearly outline the underlying assumptions

N (6)
Q
5\\

(c) ‘Debt-equity propor@ does, not affect the

of the proposition.

currency-risk bo by equity holders but it

increases the spx@d of pereentage return.” Explain.
(5)

(=) qmﬂﬁmmﬂaﬁﬁmﬂi?amaraﬁﬁ%smﬁmaﬂﬁwm#
2 frar W@ B 7

(@) ww%w,ﬁmaﬂzﬁaﬁamaam%
aﬁamﬁﬁﬁmﬂé%aﬁifamanaﬁt?ﬂtﬁﬁirmma
B st WS s Jar |

()
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(a) Discuss the tradition
Miller-Modigliani’s prop

alist position in response to
: osition on debt policy.

(6)

(b) The common stock and debt of NS Limited are

valued at $ 50 million and § 30 million, respectively.

Investors currently require 2 16% return on the

common stock and an 8% return on the debt. If
NS Limited issues an additional $ 10 million of
common stock and uses this money to retire debt,
what happens to the expected return on the stock?
Assume that the change in capital structure does

not affect the risk of the debt and that there are
no taxes.

(5)
(c) Explain the following :
(i) Law of conservation of value
(i) Weighted average cost of capital (2+2)

() Frer-ARFEm @ =0 9f « & s o
TRIRF Rofy ==t wy
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Wi W 16% Rex 3R =or w 8% Ret #t stz
BRH # 1 A T e fofiee 10 Pftem dew w sfiie
RIG S0 @ 2 3 @ W & 9w ot 3y 2
for e 2, W Wi W sufad Red = Brar 2 7
dfee {6 Il S@Fr F oRedT =0 D e =
TfE T wE SR A w2 |

() f=foRag = =aren w3
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or in Hindi; but the same medium should
be used throughout the paper.
=9 g-9= Ik IS a1 B B wew
wror F ARG, <fT @9 SO T & Wiy §
g =iy |
(c) This paper consists of 8 questions.
=g U9T-95 H oS UeT ¢ |

(d) Answer any five questions.
fepeet ard g9l F IR T |
PTG,
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(e)

Q)

The marks of each question are Wwritten
alongside the questions.

Erswemeq‘asaa%mqﬁaaﬁmw%l

The use of non-programmable calculators
1S permitted.

ﬁT-si‘Brrrr PHATT T F START B |

“A fall in the infant mortality rate will bring

down the fertility rate in a society.” Discuss.
7

“TH T F 9] gER F REe Yo 7T @y
FHH HI I P =T=T

Suppose that ,?tkesh and Sheela are the
heads of a lear ‘family, making their
fertility (?(li%ﬁ%ns. For simplicity, assume
away gen biasandissues of child survival.

The following ‘table details the costs and
benefits (inwupees) of different numbers of

children « . = N
m%ﬁ’ﬁﬂ%weﬁvs T %Eﬁa%%ﬁlﬁal{%
%q”ﬂ'aﬁrcﬁwaﬂwaa%aﬁaa%ﬁ?
& | Freferia aferer ¥ fafs aedi & e
SR T (63 =) 21 feereer feam T @ -

8906

Three 840 100
e

Four 890 100
=g

Five 930 100
ar"

Six 950 100
B!

Seven 960 100
|rd

Eight 960 100
ATS

Number of Total Benefits :;:;;;n:;f;rﬂ
Chilfiren . BN (;I;;T 2
a(i o S 500 100
o 750 100
2 :
Tg 2

(i)

(i)

Based on the information in the table, how many children

would Rakesh and Sheela have in order to maximize their
net benefit ? 2

Now consider another identical nuclear
family with Mohan and Rita as the heads.
Rakesh and Mohan are brothers and the two
couples form a joint family. Both couples
have exactly the same costs and benefits of
having children as in the table. Now
that 50% of the cost of upbri
child can be passed on to the o
Each couple’s decision is inde
other couple, and is based o
welfare. Now how many chil
couple have ?

3
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(iii) Does the fertility cl‘g&ﬁ& differin the above
cases ? Explain. NS 3

T S ATTHA AL H T SrT-orer

BT 8 ?WW@\

. . Briefly discuss the Harris“Todaro model of rural-
urban migration-and explain any one policy that

moves an economy towards an efficient labour
allocation. 15
g F ArEo-ed garaT & oid-ass! qee 1€
Tt B¢ o FEpdT W I 1 SAreAr Y ST U HAT
s oqeiesT & STX Ueh ST S TG Bl
2 '

(a) In the presence of information asymmetry

between lenders and potential borrowers 1l

I the
i rural credit market, only th
earoraans: out of the credit

‘safe’ borrowers may drop ) :
if 1 h. Explain
market if interest rates are too hig ;

your answer.
4

(b)

8906

STEqEE T FEOT AT § SeTErarst 3T
e STttt & e e SRR @ A
¥, P =T a¥ Fgd e € At Haw G
SeTEdT FEoT TR A are] e dehd € | ST
ITC T |

Show diagrammatically, that in casual labour
markets, both workers and employers are
at a disadvantage — the former due to low

- nutritional status and the latter due to hiring

of low productivity labour. 9
ARG B ¥ 3@, 6 eqrehiaaes 2| arsii o,
<1 e AR FERe T THa 7 ¥--H9 grger
TaT Rl 6 =T g ofiX e Scqrechar At
=+ FYRH & BT I |

Show that.in an economy with extensive
possibilities for perfect crop insurance, fixed
rent tenancy must be dominant, irrespective

of whether the potential tenants are rigk-
averse or risk-neutral.
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b .
(b) The following table gives default risks for

'\Ifna.:rilésti lgan sizes in an informal rura] credit
e . kup_pose that the rate of interest in
= arket is 1§3% Per year, and that in the
ﬁ:nal sector (with no default) 10% per year

MR ST ooy T IR § [
R I & o =5

mﬁm%wa@ﬁm&ﬁﬁﬁﬁg
o= & & (STRT IS =ep &) 1 0% ufy |
Loan size def:
\ ns defaulted

azvr? STHIT &6 FOT I%h

) %)

50-99 N 5

%Q)

100-149 10

150-199 20

200-249 40

250-300 . 30

>300 ' =

(1) Calculate the maximum loan size that will
be offered in the informal rural credit

market.
STTqEnes ATHIET T |ETMT T S @ S I
SfereRe T ST gt IO FHITT |
4 inimum rate of interest will loans
(i1) FOi}:th; t;g;),goo category be offered ? 6

QSO_SOO?aﬁMﬁWWEﬁWW
]

Download all NOTES and PAPERS at StudentSuvidha.com

5. What is the. ration

8906

ale of environmental
regulation ? Why do prescript%ve regllatif)éls
dominate environmental regulations worlcoim e,
even though economic incentives are conmderel(;
preferable ?

agfercer Rraee 1 @b FA E P Rrgeemdt qataCeT
ﬁaﬁwsm%ﬁﬁmwaﬁfﬁmw%, S|
8 aTefes sheareHl @l e HJ Al g ?

6. (a) Provide one explanation of interest rate

determination in rural credit markets when
the default probability is independent of the
amount to be repaid. Further, discuss the
factors which are likely to affect the

repayment probability of a loan extended in
a rural credit market. 9

TTHTOT 0T STSTRT H SATST &1 (W1STXOT &l Ueh SHTEAT
e Y 79 I (fEhice) e FIehrs ST aril
TR A A Bl & | 3HD SAET, IF HILEh 9T
==l L Sfl AT o7 IR Reanfa ot a6t
YT WHTET 2 T T Th |

Explain how, among the poor, inequalities

in the a.sset market magnify into labour
market inequalities.

(b)

PTO.
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7 How did the tremors of fault lines work i the
US financial sector to nearly destroy it ip the
year 2007 ? Suggest reforms in the US ﬁnaﬁciaj
system which might minimize the detrimenty)
effects of a crisis in future, on the world economy ?

| S, T
2007 ¥ TR fowiT & 7 1ot AEel & s 3
TH AT T B34 & [ HT w9 5 -2.3, wy,
foire oTell YUt # gana & o gy ¥ Rieg
STAHATEAT U THE o BI+ThILH THIG B1 HH HT THaT
g ? |

8. Discuss the procg&es through which global
economic integr%ﬁbn affeets the condition of the
poor in develQ@?fng countries. What measures

- could help t@ poor<? 15

3 UiEhareT & a | T=r B, B ared O 3fyas
aTfelen Tepleh<or, Taeprasiiar aen | Tal &l fRefd &
TTd BT & | SFIT S9TH Tl Pl Hag HT Tohd & ?

8 | 3000
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Roll No.

S. No. of Question Paper :

2019

Unique Papér Code

Name of the Paper : Money and Financial Markets

Name of the Course . B.A. (H) Economics CBCS-DSE
Semester Y | | | :
Duration : 3 Hours | Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt.of this question paper.)
Note — Answers may be written either ‘in\English or in Hindi;

but the same me@&n should be used throughout the
S\

paper. S
feoutt —wm®mwmm%ﬁ%ﬁw )

ﬁa“ﬁ%rq SfFT Tt 3T 1 WY TH T e
el

Attempt five questions m all.

Simple calculator is allowed.

el A WA H ISW A

TYROT FoHSSR H FAT F FHA

L. (@) What are the chaﬁges in the banking system deposits,
currency holdings and the money stock for an open

market sale of 10 crore rupees ?

| P.TO.
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8970
Given that :
()  Required reserves ratio = 10%
(i) Desired excess reserves ratio = 59,
(iif) Desired currency to depos}t ratio = 25%, 9

(b)

What are the many ways in which options differ from

a future contract ? 6

(@ ST o s, @@@mamg@%w
e H BT A 40w
‘qﬁaﬁ:‘b 10 TP .

(a)
() STavTeR TUEd IO = 10%

(i) aifoa oifafem  omfaa o = 5%

iy SfSA T SH STAM = 25%

(b) ﬁqﬁaﬂﬂaﬁaﬁﬁﬁﬁw,m'ﬁﬁﬂﬁ
firq @ T ?

{ three year
(a) Suppose investors prefer one year bonds 10

if they
bonds and will purchase 2 three year bond only

eturm
ver the T
i stional 2 per cent ©
ct to receive an addition
expect to recel

from holding on¢
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4 i i ri; c
i 1d percent but inveStOI'S expect thlS y1€1d to S
y]e ]

() Which of the three models of term structure IS
i

relevant in this case 9

(i) 1s the yield curve upward sloping, flat or

downward sloping ?
(iii) What is the yield on a three-year bond ? 6

What is the principal-agent problem in equity

contracts ? How can it be solved ? 9

e oo fF feE T A # S w1 A
of % dts ® g ¥ wEe wA § R dm
T F AT W A T TR W T o
% WA W U T & S 2 Yiaya sifatag
W W B FT SUET W oadHmE § gy
Hﬁ@49ﬁwaﬁﬁm%’%waﬁ
wﬁ%%%maﬂ%wsmw
@Rmmw6mwﬁﬁ;
B Bt S Ty e
Wﬁmﬁﬁﬁﬁ‘ww
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W S I TE IR A W, we @4y

FOWE TH A ¥ )
i) T T F AT W w3 ¥
) IS orEy # fifgva-ok gwen @& D
™ &y A fw ?En<ss§ra;a1 T,

(a) Differentiate betwee@kogenous and endogenous money
»®

supply curvesp 8

(b) Explain the ways in-which banks have developed several

mechanisms 1O overcome default risks and other
7
information asymmetries.
: C g dfE T
(@ Sfestid & siqeta mE I CEDl
HifeT |
<7 e e HITTT ol A1 .
(b) -

forerereT

(@)

)

(@)

(b)

( 5 ) | 8970

Discuss the efficiency of the following instruments as
intermediate targets to achieve the objectives of
Monetary policy :
() Interest rate
(i) Money supply. : L

Graphically explain why an investor who purchases a

callable bond requires a call premium. 7

g Hft B Sevdl # WG FA B fAg Tegedl

weq & ®9 H frAfafed Iuskon w1 gerdn
R g9 ST

() =N I

() T g

WEHA T W wERC R ouw fave o
FHfow dts wlem ¥ S w9
FEREHRA F OBt ¥ 2
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(@)

(b)

(@)

®)

(a)

(b)

( 6 ) =
0

g

money supply in the Indian economy

@) RiISB in C/DD ratio (c)

(7)) Rise in TD/DD ratio (t)

(iif) Rise in non-borrowed reserves (H")

(v) Rise in excess reserves holdings of banks (ER). 8

How is Basel 11l an im),&&ment over ‘Basel 11 ? 7
gl aw@ﬁgﬁ 9 = Frefafen =
# W e i

() /S FgaEE afs ©

Giy el ) Im A FfE ©

Gin -sar e #7 afs HO

(v) et & Sl fisd afeem # IS (ER)
e § dwern # geEa G 30T 7

i 9
i p i

€ r 8
e th 9
] (Nesses -
What are t theo )"'S major weakn
Briefl vernn‘lf:rlt
reform in the Go
. 1 the eforms undenaken n
riefly discuss

i dia.
securities market 1N In

(@

(b)

(a)

()

(@)

(®)
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smien Ufehea T & fau 9%l #) onen wifu)
g fagra # ¥g@ wESIE J&oE 2
gy H g whayfa SR # fey ToogeR
w geg # == wifse

What is meant by asset securitization ? In what way

can asset securitization reduce the cost of funds for

an issuer ? 8

Jan Tinbergen claimed that it is not merely the number
of instruments that are important but the number of

instruments exerting independent effects on the target

variables. Elucidate. 7

ot Al § v = e ¥ 7 ufigefy
e e 68 yhR Siwd @ fou em
F WA W FH T GHA T 2

S fesmtt 3 e foran fF o Fow w7 g
F e T ¥ S weeyd ¥ A e
aﬁmwﬁﬁwm@aﬁmﬁwm}g‘m
T me Fifm
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Write short notes on any mo of following

TS +H§
()  Public determinants of money supply
(i)  Primary/Direct securities in India
(i) Liquidity premium. _
ﬁaﬁﬁi@ﬁﬁﬁwaﬁmﬁw’r\mﬂﬁﬁwmz
() TX gd & wewtE fHutes

(i) WA H et e EIRK R

(i) LA T | &
S
>
NN
$
8970 8
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